SPRINGFIELD BOARD OF EDUCATION Springfield, New Jersey SPECIAL MEETING - AUGUST 6, 2012

The Springfield Board of Education is committed to providing high quality, efficient educational programs through which all students achieve the New Jersey Core Curriculum Contents Standards. Every effort is made to ensure that the district's certificated and support personnel are among the best in their fields.

The staff and Board of Education are dedicated to maintaining excellence in the delivery of child-centered educational programs. Very simply stated, in Springfield...SCHOOLS ARE FOR KIDS!

A Special Meeting of the Board of Education of the Township of Springfield in the County of Union, New Jersey, was held at the Jonathan Dayton High School Instructional Media Center-First Floor on Monday, August 6, 2012 at 7:10 P.M.

President's Statement: Pursuant to the New Jersey Open Public Meetings Act, Public Law 1975, Chapter 231, the Board Secretary caused notice of the meeting to be given to the public and the press on August 1, 2012.

1. CALL TO ORDER

The meeting was called to order by Board President, Mrs. Patricia Venezia

2. ROLL CALL

Present: Mr. Anthony Delia, Mr. Steven Friedman, Mr. Brian Kass, Mr. Irwin Sablosky, Mr. Scott Samansky, Mrs. Jacqueline Shanes, Mr. Scott Silverstein, Mr. Steven Wolcott, Mrs. Patricia Venezia

Also

Present: Mr. Michael Davino, Superintendent

Mr. Matthew A. Clarke, Business Administrator/Board Secretary

Mrs. Ellyn Atherton, Director of Human Resource

3. CLOSED SESSION (7:11 – 7:37 PM)

Moved by Mr. Silverstein, seconded by Mr. Wolcott, to suspend the rules of the order of business of the Regular Meeting and adjourn to closed conference session for the reasons contained in the following resolution:

RESOLUTION:

"WHEREAS the Board of Education must discuss subjects concerning matters protected by Attorney/Client privilege and Personnel which are not appropriate subjects to be discussed in a public meeting and which are within the exemptions permitted to be discussed and acted upon in private session pursuant to P.L. 1975 Chapter 231, it is therefore

RESOLVED that the aforesaid subjects shall be discussed in private session by this Board and the administrative staff and information pertaining thereto will be made available to the public as soon thereafter as possible and once the reasons for non-disclosure no longer exist."

Closed Conference Items

- 1. Matters protected by Attorney/Client Privilege
- 2. Personnel

Yeas: Unanimous by all Members present.

MOTION CARRIED

4. RECONVENE

Moved by Mr. Silverstein, seconded by Mrs. Shanes, approval to reconvene to the Regular Meeting of the Board of Education.

Yeas: Unanimous by all Members present.

MOTION CARRIED

5. PLEDGE OF ALLEGIANCE

6. SUPERINTENDENT'S REPORT

Moved by Mr. Silverstein, seconded by Mr. Kass, to accept and approve the Superintendent's Report as presented:

Mr. Davino presented the following

- 1. Introduction of Refunding Bond
- 2. Bid No 2012-10

Yeas: Unanimous by all Members present.

MOTION CARRIED

7. FIRST PUBLIC SESSION (7:43 PM)

There were no comments regarding the Superintendent's Report or the Agenda.

8. REFUNDING OF BOND 1ST READING

BOARD TO FINANCE SUCH APPROPRIATION."

Moved by Mr. Sablosky, seconded by Mr. Samansky,
"REFUNDING BOND ORDINANCE PROVIDING FOR THE REFUNDING OF
\$8,774,000 AGGREGATE PRINCIPAL AMOUNT OF OUTSTANDING BONDS
OF THE BOARD OF EDUCATION OF THE TOWNSHIP OF SPRINGFIELD,
IN THE COUNTY OF UNION, STATE OF NEW JERSEY, APPROPRIATING
A SUM NOT EXCEEDING \$9,300,000 TO PAY THE COST THEREOF AND
AUTHORIZING THE ISSUANCE OF NOT EXCEEDING \$9,300,000
AGGREGATE PRINCIPAL AMOUNT OF REFUNDING BONDS OF SAID

heretofore introduced, does now pass on first reading, and that said ordinance be further considered for final passage at a meeting to be held on the 27th day of August, 2012, at 7:30 P.M., or as soon thereafter as the matter can be reached, at the regular meeting place of the Board of Education and that at such time and place all persons interested be given an opportunity to be heard concerning said ordinance, and that the School Business Administrator/Board Secretary is hereby authorized and directed to publish said ordinance according to law with a notice of its introduction and passage on first reading and of the time and place when and where said ordinance will be further considered for final passage.

Yeas: Unanimous by all Members present. MOTION CARRIED

9. PERSONNEL APPOINTMENTS

Moved by Mr. Wolcott, seconded by Mr. Delia, at the recommendation of the Superintendent, approval of the appointment of personnel on the attachment. (Attachment A)

Yeas: Unanimous by all Members present. MOTION CARRIED

10. PERSONNEL TRANSFER

Moved by Mr. Wolcott, seconded by Mr. Delia, at the recommendation of the Superintendent, approval of the following transfer of personnel for the 2012-13 school year

Name (L, F)PositionFrom ToEffective DateGraham, RoxanneSchool NurseEVWJDHS9-1-12

Yeas: Unanimous by all Members present. MOTION CARRIED

11. <u>REJECTION OF BIDS FOR DAYTON FIELD IMPROVEMENTS AND READVERTISE</u>

Moved by Mr. Wolcott, seconded by Mr. Delia, approval to reject all bids, project number 2012-10, for Jonathan Dayton High School Field Improvements from all bidders as set in the following resolution: (Attachment B)

WHEREAS, there is planned a project to perform certain improvements at the Jonathan Dayton High School athletic field; and

WHEREAS, pursuant to an agreement with the Township of Springfield ("Township"), the financing for said improvements derives in part from a bond issuance by the Township; and

WHEREAS, the Springfield Board of Education shall procure the construction services to complete the improvements; and

WHEREAS, a public advertisement for such construction services took place and a bid opening was duly held on July 31, 2012; and

WHEREAS, the bid prices submitted by the bidders appear unreasonable and exceed the funds currently available for the project.

NOW THEREFORE BE IT RESOLVED that the aforementioned bids be and hereby are rejected pursuant to *N.J.S.A.* 18A:18A-22(b); and

BE IT FURTHER RESOLVED, that the Business Administrator be and hereby is authorized to conduct another advertisement and solicitation for bids, and, in consultation with the Board engineer and counsel, make appropriate revisions to the bid specifications to favorably impact bid prices.

Yeas: Unanimous by all Members present. MOTION CARRIED

12. SECOND PUBLIC SESSION (7:46 PM)

There were no comments regarding the Agenda.

13. NEW BUSINESS

Due to the re-bid authorization, the Regular Board meeting August 20, 2012 will be moved to Monday to August 27, 2012, at regularly scheduled times.

14. ADJOURNMENT (7:50 PM)

Moved by Mr. Silverstein, seconded by Mr. Delia, to adjourn the meeting at 7:50 PM.

Yeas: Unanimous by all Members present.

MOTION CARRIED

Upcoming Meetings:

- 1. Regular Meeting August 20, 2012 at 7:30 PM in the IMC at JDHS
- 2. Regular Meeting September 10, 2012 at 7:30 PM in the IMC at JDHS

Matthew A. Clarke

Business Administrator/Board Secretary

Springfield Public Schools Personnel

Last Name Certificated	First Name	e Position	Location	Guide/Step	Salary	Replacement/ Renewal/New	Additional Information	Effective Date
Mirabile	Julie	MS Social Studies Teacher	FMG				return date revised	September 1, 2012
Boehm	Tiffany	MS Interim Supervisor	FMG		\$72,459.00		cover for MP	8/1/12-6/30/13
Warlick	Kathryn	Special Education Supervisor	District		\$71,820.00		replaces LV	8/1/12-6/30/13
Cugliari	Mark	Physical Education/Health Teacher	JDHS	Step 0/BA	\$52,495.00		replaces JG	9/1/12-6/30/13
Schwartz	Betsy	School Nurse	Walton	Step 0/6th	\$62,224.00		replaces CG	9/1/12-6/30/13
Disko	Maura	AIS Leave Replacement Teacher	TLS	Step 0/BA	\$52,495.00		cover for TB	9/1/12-6/30/13
Levinson	Kathi	Elem Leave Replacement Teacher	TLS	Step 0/BA	\$52,495.00		cover for KMP	9/21/12-3/15/13
Fortino	Marisa	Elem Leave Replacement Teacher	JCS	Step 0/MA	\$57,229.00		cover for AF	9/1/12-12/21/12
Medina	Sarah	Teacher	District		\$ 49.17 /hour		per IEP	6/25/12-8/31/12
Kaplan	Kelsey	AIS Leave Replacement	JCS	BA/Step 0	\$52,495.00		revised location	10/15/12-3/29/13
Massoni	Erin	IDE Summer Curriculum	JCS		\$38.25/hr		Max of 40 hrs	8/20/12- 8/31/12
Krumholz	Drew	IDE Summer Curriculum	JDHS		\$38.25/hr		Max of 40 hrs	8/20/12- 8/31/12
Caulfield	Leslie	IDE Summer Curriculum	JDHS		\$38.25/hr		Max of 40 hrs	8/20/12- 8/31/12
Major	Michelle	IDE Summer Curriculum	FMG		\$38.25/hr		Max of 40 hrs	8/20/12- 8/31/12
Leonard	Helene	IDE Summer Curriculum	FMG	(\$38.25/hr		Max of 40 hrs	8/20/12- 8/31/12
Rollis	Lauren	English Teacher	JDHS				revised date	4/30/12-6/30/13
Anderson-Web		Summer School Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Gillen	Allison	Summer Transition Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Goerge	Robyn	Summer Transition Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Herrington	Amy	Summer Transition Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Telesca	Jonathan	Summer Transition Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Shack	Stephanie	Summer Transition Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Lagemann	Melissa	Summer Transition Teacher	FMG		\$ 49.17 /hour		revised dates	6/25/12-7/25/12
Sista	Maria	Alternatives Club Advisor	JDHS		\$929.00			9/1/12-6/30/13
Delikaris	Barbara	Art Club Advisor	JDHS		\$1,421.00			9/1/12-6/30/13
Shack	Stephanie	Assistant Play Director/Choreographer (F	JDHS		\$3,387.00			9/1/12-6/30/13
Krupit	Ben	Band Director	JDHS		\$6,556.00			9/1/12-6/30/13
Breen	Sue	Bookroom Supervisor	JDHS		\$1,858.00			9/1/12-6/30/13
Rooney-Kuhn	Elizabeth	Business Manager Newspaper	JDHS	5.	\$1,421.00			9/1/12-6/30/13
Chomko	Karyn	Business Manager-Yearbook Advisor	JDHS	30 35 54	\$1,421.00			9/1/12-6/30/13
Russo	Daniel	Chess Club Advisor	JDHS		\$929.00			9/1/12-6/30/13
DeNicolo	Anthony	Drama Director (Fall) Advisor	JDHS		\$3,934.00			9/1/12-6/30/13
Davison	Bryan	Environment Club Advisor	JDHS		\$601.00			9/1/12-6/30/13
VanDeursen	Matt	ERT Advisor	JDHS		\$765.00			9/1/12-6/30/13
Gutierrez	Tamara	Freshman Class Advisor-2016	JDHS		\$765.00			9/1/12-6/30/13
Mager	Jody	Future Business Leaders of America Advi	JDHS		\$601.00			9/1/12-6/30/13
Chomko	Karyn	Gay/Straight Alliance Co-Advisor	JDHS		\$300.50			9/1/12-6/30/13
		J. — — — — — — — — — — — — — — — — — — —						

Personnel

						Replacement/	Additional	
Blondet	James	Substitute Bus Driver	District		***	renewal		7/1/12-6/30/13
Substitute/Hon			20000011	Caraabtop	·			
Last Name	First Name	Position	Location	Guide/Step	Salary	Replacement/ Renewal/New	Additional Information	Effective Date
MUKOWSKI	Dalla	Willer Head Cheeneading Coach	JUID		Ψ3,001.00			7. 11 12 0/00 10
Rutkowski	Dana	Winter Head Cheerleading Coach	JDHS	====	\$3,661.00			9/1/12-6/30/13
Rutkowski	Dana	Fall Head Cheerleading Coach	JDHS		\$3,224.00		ap to > ma per week	9/1/12-6/30/13
Jacobs	Lance	Weight Room Supervisor	JDHS		25.13/hr		up to 9 hrs per week	8/15/12-6/30/13
Orr	Erin Jessica	Homework Club	JCS		43.71/hr		up to 20 hours	9/1/12-6/30/13
Cnomko Massoni	Karyn Erin	Homework Club	JCS		43.71/hr		up to 20 hours	9/1/12-6/30/13
Chomko		Yearbook Advisor	JDHS		\$3,770.00	====		9/1/12-6/30/13
Beller	Laura	World Language Club (Spanish) Advisor	JDHS		\$601.00			9/1/12-6/30/13
Caulfield Fabiano	Lesiie Felix	World Language Club (Italian) Advisor World Language Club (Italian) Advisor	JDHS		\$601.00			9/1/12-6/30/13
Krumholz Caulfield	Drew Leslie	World Language Club (French) Advisor	JDHS		\$464.50 \$601.00			9/1/12-6/30/13
Pastine	Kimberly	Volunteers Club Co-Advisor Volunteers Club Co-Advisor	JDHS JDHS		\$464.50 \$464.50			9/1/12-6/30/13
VanDeursen Postine	Matt	Student Council Co-Advisor	JDHS		\$819.50 \$464.50		****	9/1/12-6/30/13 9/1/12-6/30/13
Salmon	Gregory	Student Council Co-Advisor	JDHS -		\$819.50			9/1/12-6/30/13
Abadir	Lillian	Sophomore Class Advisor-2015	JDHS	7.77	\$929.00		**==*	9/1/12-6/30/13
Krupp	Alan	Ski Club Co-Advisor	JDHS		\$300.50			9/1/12-6/30/13
Bellarosa	Mandee	Ski Club Co-Advisor	JDHS		\$300.50			9/1/12-6/30/13
Hofman	Veronica	Senior Class Advisor-2013	JDHS	***	\$1,639.00			9/1/12-6/30/13
Trueger	Barbara	Quiz Bowl Advisor	JDHS		\$2,732.00			9/1/12-6/30/13
Sista	Maria	Peer Mediation Advisor	JDHS		\$929.00			9/1/12-6/30/13
Hofman	Veronica	Peer Leadership Co-Advisor	JDHS		\$929.00			9/1/12-6/30/13
Hadzimichalis	Anthony	Peer Leadership Co-Advisor	JDHS		\$929.00			9/1/12-6/30/13
Rooney-Kuhn	Elizabeth	Newspaper Advisor	JDHS		\$3,770.00			9/1/12-6/30/13
White	Chris	National Honor Society Advisor	ЛDHS		\$601.00			9/1/12-6/30/13
Madison	Ashley	Musical Director (Spring) Advisor	JDHS		\$4,262.00			9/1/12-6/30/13
Russo	Daniel	Model UN Advisor	JDHS		\$601.00			9/1/12-6/30/13
Trueger	Barbara	Mock Trial Advisor	JDHS		\$2,732.00			9/1/12-6/30/13
Ornovitz	Irene	Medical Career Club Advisor	JDHS		\$601.00			9/1/12-6/30/13
Powers	MaryEllen	Math League Advisor	JDHS		\$601.00			9/1/12-6/30/13
Kuszmerski	Jennifer	Literary Magazine Advisor	JDHS		\$1,421.00		****	9/1/12-6/30/13
Tedesco	Frank	Key Club Advisor	JDHS		\$601.00			9/1/12-6/30/13
Cokeing	Mary	Junior Statesman (JSA) Advisor	JDHS		\$601.00			9/1/12-6/30/13
Mortensen	Jennifer	Junior Class Advisor-2014	JDHS		\$1,421.00	*===		9/1/12-6/30/13
Rooney-Kuhn	Elizabeth	Gay/Straight Alliance Co-Advisor	JDHS		\$300.50	****		9/1/12-6/30/13

Springfield Public Schools Personnel

Last Name	First Name	Position	Location	Guide/Step	Salary	Renewal/New	Information	Effective Date
Non-Certifica	ted							
Campos	Mary Jo	Lunch Aide	District		16.02/hr.		up to 10 Hours	9/1/12-6/30/13
Ralston	Cynthia	OOD Instructional Aide	District	*	*		As per IEP	6/27/12-8/8/12
Medina	Sue	Instructional Aide	District		16.82/hr.		up to 90 Hours	6/25/12 - 8/31/12
Petruzzella	Nicole	Instructional Aide	District		16.82/hr.	-	up to 90 Hours	6/25/12 - 8/31/12
Shields	Debbie	Instructional Aide	District		16.82/hr.		up to 90 Hours	6/25/12 - 8/31/12
Walsh	Mary	Instructional Aide	District		16.82/hr.		up to 90 Hours	6/25/12 - 8/31/12
Leverett	Novella	Bus Aide	District	* =	*			6/25/12 - 8/31/12
Graham	Nora	Bus Aide	District	*	*			6/25/12 - 8/31/12
Boettcher	Dina	Bus Aide	District	*	*			6/25/12 - 8/31/12
						Replacement/	Additional	
Last Name	First Name	Position	Location	Guide/Step	Salary	Renewal/New	Information	Effective Date
Before and Af	ter School Pr	ogram/Childcare		-				
Giordino	Rachel	Group Aide	District		14.59 hr.	new		9/1/12-6/30/13

^{*} In accordance with the Negotiated Contract between the Springfield BOE and the Springfield Education Association (July 1, 2011 - June 30, 2013)

**** Special Salaries, Compensation and Fees 2011- 2012

Penn	BID TABULATION SHEET Onl Bid Opening Date	. 07/34/45	,	BIDDER	NO. 1	BIDDEI	R NO. 2	BIDDE	R NO. 3	BIDDER	NO. 4
PERMONE ASSOC	Jonathan Dayton High School Athletic Field improvements	. 07131112	•	Rochelle Contra PO Box Landing, N	8553	Land 235 County Amityville,			ntractors inc. i Street e, NJ 07017	Applied Landscap 145 Rive Montville, I	r Road
TEM NO	DESCRIPTION	EST QTY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	MOBILIZATION	1	LS	\$23,000.00	\$23,000.00	\$70,000.00	\$70,000.00	\$10,000.00	\$10,000,00	\$91,000.00 [\$91,000
	CLEARING SITE	1	LS	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00	\$125,000.00	\$125,00
	TEMPORARY CONSTRUCTION FENCE TEMPORARY SITE SIGN	1000	LF	\$4.40	\$4,400.00	\$6.50	\$8,500.00	\$7.00	\$7,000.00	\$4.00	\$4,00
	EARTH MOVING/SITE GRADING	18000	SY	\$1,500.00 \$3.50	\$1,500.00 \$83,000.00	\$1,500.00 \$135,000.00	\$1,500.00 \$135,000.00	\$1,000.00 \$4.00	\$1,000.00 \$72,000.00	\$1,500.00 \$18.79	\$1,50 \$302,22
	RÉMOVE PAVEMENT, FULL DEPTH	750	SY	\$8.00	\$6,000.00	\$8.00	\$6,000.00	\$18.00	\$13,500.00	\$2.75	\$302,2
	REMOVE TENNIS COURT, FULL DEPTH	2830	SY	\$6.00	\$18,980.00	\$6.00	\$18,980.00	\$12.00	\$33,960.00	\$2.75	\$7,78
	REMOVAL OF UNSATISFACTORY SOIL	1000	CY	\$35.00	\$35,000.00	\$20.00	\$20,000.00	\$28.00	\$28,000.00	\$5.00	\$5,00
	SATISFACTORY SOIL REPLACEMENT GEOTECHNICAL STUDY ALLOWANCE	1000	LS	\$22.00 \$20,000.00	\$22,000.00 \$20,000.00	\$17.00 \$15,000.00	\$17,000.00 \$15,000.00	\$34.00 \$3,500.00	\$34,000.00 \$3,500.00	\$8.00 \$3,000.00	\$6,00 \$3,00
	CONTINGENCY FUND	1	LS	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,00
	SION AND SEDIMENT CONTROL	1 0400	SHEET STA	unine is a substanti	35.02 mg - 19.02 mg	SERVICE CONTRACTOR					The second
	SILT FENCE STABILIZED CONSTRUCTION ENTRANCE	2100	LF	\$4.50 \$2,500.00	\$9,450.00 \$2,500.00	\$2.20 \$1,700.00	\$4,820.00 \$1,700.00	\$4.00 \$3,000.00	\$8,400.00 \$3,000.00	\$3.00	\$6,30
	NLET FILTER	3	UNIT	\$400.00	\$1,200.00	\$1,700.00	\$300.00	\$3,000.00	\$3,000.00	\$1,200.00 \$200.00	\$1,2 \$6
			1 2 2 2								
	ATER AND UTILITIES	1 0400	STEWARDS	SHOOMSTALL AND A BAD					ETHERESISE TO THE		HINNELES!
	36" HDPE PIPE DETENTION BASIN WITH HEADERS 12" PERFORATED HDPE COLLECTOR PIPE	1300	LF	\$85.00 \$24.00	\$136,500.00 \$31,200.00	\$75.00 \$24.00	\$157,500.00 \$31,200.00	\$148.50 \$30.00	\$311,850.00 \$39,000.00	\$65.00 \$33.00	\$136,5 \$42,9
	SLOT DRAIN	240	LF	\$120.00	\$28,800.00	\$56.00	\$13,440.00	\$55.00	\$13,200.00	\$96.00	\$42,8
	5" HDPE PIPE	85	LF	\$18.00	\$1,530.00	\$14.00	\$1,190.00	\$20.00	\$1,700.00	\$41.00	\$3,4
	12" HDPE PIPE	390	LF	\$21.00	\$8,190.00	\$18.00	\$7,020.00	\$40.00	\$15,600.00	\$43.00	\$18,7
	15" REINFORCED CONCRETE PIPE	60	LF	\$43.00	\$2,580.00	\$29.00	\$1,740.00	\$80.00	\$4,800.00	\$49.00	\$2,9
	6" PVC PIPE. FOUNDATION DRAIN 4" PVC PIPE, ROOF LEADER	120 50	LF	\$20.00 \$18.00	\$2,400.00 \$900.00	\$15.00 \$14.00	\$1,800.00 \$700.00	\$20.00 \$15.00	\$2,400.00 \$750.00	\$40.00 \$39.00	\$4,8 \$1,9
	OUTLET CONTROL STRUCTURE	1 1	UNIT	\$4,200.00	\$4,200.00	\$2,950.00	\$2,950.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,0
	NLET, TYPE A	2	UNIT	\$1,900.00	\$3,800.00	\$1,850.00	\$3,700.00	\$1,400.00	\$2,800.00	\$1,750.00	\$3,5
	LAWN INLET, 2.5' X 3.0'	1	UNIT	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00	\$1,000.00	\$1,000.00	\$1,465.00	\$1,4
	MANHOLE, 4' DIAMETER CONCRETE HEADWALL	1	UNIT	\$1,650.00 \$2,200.00	\$1,850.00 \$2,200.00	\$2,000.00 \$2,100.00	\$2,000.00 \$2,100.00	\$1,800.00 \$4,000.00	\$1,800.00 \$4,000.00	\$1,600.00 \$1,375.00	\$1,6 \$1,3
	FLAP GATE	1	UNIT	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$4,000,00	\$4,0
	STONE RIP RAP OUTLET CONTROL, 8" THICK	10	SY	\$60.00	\$600.00	\$60.00	\$600.00	\$120.00	\$1,200.00	\$100.00	\$1.0
	15" PVC SANITARY SEWER PIPE	525	LF	\$55.00	\$28,875.00	\$47.00	\$24,675.00	\$240.00	\$126,000.00	\$100.00	\$52,5
	B" PVC SANITARY SEWER PIPE	400	LF	\$21.00	\$8,400.00	\$21.00	\$8,400.00	\$40.00	\$18,000.00	\$34.00	\$13,6
	MANHOLE, SANITARY SEWER SANITARY SEWER CLEANOUT	7	UNIT	\$1,800.00 \$600.00	\$12,800.00 \$600.00	\$3,900.00 \$700.00	\$27,300.00 \$700.00	\$5,000.00 \$600.00	\$35,000.00 \$600.00	\$2,200.00 \$500.00	\$15,4 \$5
	DUCTILE IRON WATER PIPE, CLASS 52	465	LF	\$56.00	\$26,040.00	\$36.00	\$18,740.00	\$60.00	\$27,900.00	\$50.00	\$23,2
	WATER METER PIT	11	UNIT	\$2,000.00	\$2,000.00	\$3,750.00	\$3,750.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,0
	WATER SERVICE CONNECTION	1 1	UNIT	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,5
	1 1/2" RIGID METALLIC CONDUIT, PVC COATED 15" X 15" JUNCTION BOX	395	LF UNIT	\$42.00 \$750.00	\$18,590.00 \$750.00	\$42.00 \$230.00	\$18,590.00 \$230.00	\$20.00 \$1,500.00	\$7,900.00 \$1,500.00	\$50.00 \$750.00	\$19,7 \$7
-30	13 X 13 JONCHON BOX		ONL	\$750.00	\$7.50.00	4230.00	9230.00	\$1,300.00	\$1,500.00	\$730.00	
TE IMPR	ROVEMENTS AND		TRUES					1.00			NAME AND
	4" CONCRETE SIDEWALK	1240	SY	\$72.00	\$89,280.00	\$52.00	\$64,480.00	\$72.00	\$89,280.00	\$65.00	\$80,6
	5" REINFORCED CONCRETE DRIVEWAY FLEXIBLE POROUS PAVEMENT SYSTEM, VEGETATED	15 200	SY	\$86.00 \$90.00	\$1,290.00 \$18,000.00	\$64.00 \$61.00	\$960.00 \$12,200.00	\$144.00 \$63.00	\$2,160.00 \$12,600.00	\$75.00 \$50.00	\$1,1 \$10,0
	FLEXIBLE POROUS PAVEMENT SYSTEM, AGGREGATE	190	SY	\$90.00	\$17,100.00	\$55.00	\$10,450,00	\$45,00	\$8,550.00	\$50.00	\$9,5
	9"X20" VERTICAL CONCRETE CURB	750	LF	\$19.00	\$14,250.00	\$21.00	\$15,750.00	\$30.00	\$22,500.00	\$18.00	\$12,0
	HANDICAP RAMP WITH DETECTABLE WARNING SURFACE	3	UNIT	\$500.00	\$1,500.00	\$1,000.00	\$3,000.00	\$500,00	\$1,500.00	\$250.00	\$7
	CHAIN LINK FENCE, 10' HIGH	1225	LF UNIT	\$53.00 \$1,200.00	\$64,925.00 \$6,000.00	\$40.00 \$1,850.00	\$49,000.00 \$8,250.00	\$49.00 \$850.00	\$60,025.00 \$3,250.00	\$45.00 \$1,000.00	\$55,1 \$5,0
	CHAIN LINK FENCE GATE, 7" HIGH WITH 3" TRANSOM DRNAMENTAL, BLACK VINYL COATED FENCE, 10" HIGH	350	LF	\$97.00	\$33,950.00	\$1,55.00	\$54,250.00	\$157.00	\$54,950.00	\$87.00	\$30,4
	DRNAMENTAL, BLACK VINYL COATED FENCE, 6' HIGH	450	LF	\$75.00	\$33,750.00	\$85.00	\$38,250.00	\$95.00	\$42,750.00	\$50.00	\$22,5
	ORNAMENTAL, BLACK VINYL COATED FENCE GATE , 10' HIGH, 15' WIDE	1	UNIT	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$2,800.00	\$2,800.00	\$7,000.00	\$7,0
	DRNAMENTAL, BLACK VINYL COATED FENCE GATE, 6' HIGH, 10' WIDE	1 1	UNIT	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00 \$1,900.00	\$1,500.00	\$1,500.00	\$6,200.00 \$3,600.00	\$6,2 \$3,6
	DRNAMENTAL, BLACK VINYL COATED FENCE GATE , 6' HIGH, 6' WIDE CONCRETE BLOCK RETAINING WALL	4275	UNIT	\$1,600.00 \$29.00	\$1,600.00 \$123,975.00	\$1,900.00 \$57.00	\$243,875.00	\$850.00 \$38,00	\$850.00 \$162,450.00	\$3,600.00	\$3,0 \$106,8
	STEEL HAND RAIL	560	LF	\$91.00	\$50,960.00	\$75.00	\$42,000.00	\$40.00	\$22,400.00	\$80.00	\$44,8
	TRAFFIC STRIPES, LONG-LIFE EPOXY RESIN, 4"	1610	LF	\$2.00	\$3,220.00	\$1.60	\$2,576.00	\$1.50	\$2,415.00	\$0.95	\$1,5
	RAFFIC STRIPES, LONG-LIFE EPOXY RESIN, 6"	110 90	LF LF	\$2.50 \$5,00	\$275.00 \$450.00	\$2.50 \$5.00	\$275.00 \$450.00	\$2.00 \$4.00	\$220.00 \$360.00	\$1.50 \$2.85	\$1 \$2
	TRAFFIC STRIPES, LONG-LIFE EPOXY RESIN, 12" TRAFFIC MARKINGS, THERMOPLASTIC, HANDICAP SYMBOL	2	UNIT	\$150.00	\$300.00	\$220.00	\$440.00	\$150.00	\$300.00	\$100.00	\$2
	SIGN WITH "U" POST BREAKAWAY SUPPORT, ONE WAY"	1.	UNIT	\$200.00	\$200.00	\$275.00	\$275.00	\$200.00	\$200.00	\$195.00	\$1
59 5	SIGN WITH "U" POST BREAKAWAY SUPPORT, 'DO NOT ENTER"	2	UNIT	\$220.00	\$440.00	\$275.00	\$550.00	\$200.00	\$400.00	\$215.00	\$4
60 8	SIGN WITH "U" POST BREAKAWAY SUPPORT, "NO PARKING ANY TIME"	2	UNIT	\$220.00 \$200.00	\$880.00 \$400.00	\$250.00 \$275.00	\$1,000.00 \$550.00	\$200.00 \$250.00	\$800.00 \$500.00	\$155.00 \$150.00	\$6
04 12			UNI		2400.00	32/3.00	3000.00	323U.UU !	3000.00 1	3130.00	. \$3
	SIGN WITH "U" POST BREAKAWAY SUPPORT, HANDICAP PARKING W/ SIGN WITH "U" POST BREAKAWAY SUPPORT, 'PED X-ING' W/ ARROW	2	UNIT	\$325.00	\$650.00	\$275.00	\$550.00	\$250.00	\$500.00	\$260.00	\$5

	BID TABULATION SHEET			BIDDER	NO. 1	BIDDER	NO, 2	BIDDER	NO. 3	BIDDER	NO. 4 Attachm
Pennoni Jonathan Dayton High School Athletic Field improvements Township of Springfield, Union County, NJ SPUC 1102			Rochelle Contracting Co., Inc. PO Box 8553 Landing, NJ 07850		LandTek 235 County Line Road Amityville, NY 11701		Tec-Con Contractors Inc. 9 Dodd Street East Orange, NJ 07017		Applied Landscape Technologies 145 River Road Montville, NJ 07045		
TEM NO	DESCRIPTION	EST QTY	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
64	HMA 9.5M64 SURFACE COURSE, 2" THICK	81	TONS	\$160.00	\$12,960.00	\$130.00	\$10,530.00	\$120.00	\$9,720.00	\$120.00	\$9,720.00
65	DENSE GRADED AGGREGATE, 6" THICK	715	SY	\$8.00	\$5,720.00	\$7.00	\$5,005.00	\$12.00	\$8,580.00	\$7.00	\$5,005.00
66	TENNIS COURT SURFACE	3680	SY	\$36,00	\$132,480.00	\$33.00	\$121,440.00	\$36.00	\$132,480.00	\$31.00	\$114,080,00
67	SYTHETIC TURF FIELD SURFACE	110460	SF	\$7.00	\$773,220.00	\$6.70	\$740,082.00	\$7.50	\$828,450.00	\$6.00	\$662,760.00
68	BLEACHERS AND PRESS BOX	1	LS	\$167,000.00	\$167,000.00	\$160,000.00	\$160,000.00	\$159,000.00	\$159,000.00	\$144,250.00	\$144,250.00
69	REINFORCED CONCRETE PAD, 5" THICK (BLEACHERS)	400	SY	\$92.00	\$36,800.00	\$91.00	\$36,400.00	\$108.00	\$43,200.00	\$95.00	\$38,000.00
70	PREFABRICATED RESTROOM/CONCESSION STAND STRUCTURE	1	LS	\$380,000.00	\$380,000.00	\$330,000.00	\$330,000.00	\$280,000.00	\$280,000.00	\$215,000.00	\$215,000.00
71	BRICK BUILDING FACADE	1	LS	\$27,000.00	\$27,000.00	\$35,000.00	\$35,000.00	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00
TE FÜ	RNISHINGS		SOLIC IN		And the territory of	Service Control of the Control				I a second to the second	
72	INTERPRETIVE PANELS	4	LUNIT	\$1,000,00	\$4,000.00	\$1,300,00	\$5,200.00	\$1,250.00	\$5,000.00	\$6,500.00	\$26,000.00
73	TENNIS COURT POSTS AND NET	5	UNIT	\$2,000.00	\$10,000,00	\$1,550.00	\$7,750.00	\$1,600.00	\$8,000.00	\$885.00	\$4,425.00
74	SOCCER GOAL NETS	2	UNIT	\$2,500.00	\$5,000.00	\$2,350.00	\$4,700.00	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00
75	FOOTBALL GOAL POSTS AND PADS	2	UNIT	\$6,000,00	\$12,000.00	\$6,300.00	\$12,600.00	\$6,500,00	\$13,000.00	\$6,500.00	\$13,000.00
76	SOFTBALL HOODED BACKSTOP	1	UNIT	\$14,000,00	\$14,000.00	\$17,500.00	\$17,500.00	\$11,000,00	\$11,000.00	\$7,200.00	\$7,200.00
77	SOFTBALL PITCHERS MOUND	1	UNIT	\$3,500.00	\$3,500.00	\$225,00	\$225.00	\$200.00	\$200.00	\$4,000.00	\$4,000.00
78	SOFTBALL HOME PLATE	1	UNIT	\$450.00	\$450.00	\$200.00	\$200.00	\$200.00	\$200.00	\$650.00	\$650.00
79	SOFTBALL BASES	3	UNIT	\$150.00	\$450.00	\$300.00	\$900.00	\$270.00	\$810.00	\$650.00	\$1,950.00
80	PORTABLE 15' TEAM BENCHES	8	UNIT	\$1,800.00	\$14,400,00	\$1,400.00	\$11,200.00	\$1,750.00	\$14,000.00	\$1,200.00	\$9,600.00
81	PORTABLE 8' SPECTATOR BENCHES	6	UNIT	\$1,600.00	\$9,600.00	\$900.00	\$5,400.00	\$750,00	\$4,500.00	\$900,00	\$5,400.00
82	TRASH RECEPTACLE, FLAT LID RECYCLING, 32 GAL	6	UNIT	\$350.00	\$2,100.00	\$625.00	\$3,750.00	\$750.00	\$4,500.00	\$500.00	\$3,000.00
83	TRASH RECEPTACLE, DOME LID, 32 GAL	12	UNIT	\$350.00	\$4,200.00	\$650,00	\$7,800.00	\$750.00	\$9,000.00	\$735.00	\$8,820.00
84	SCOREBOARD, WIRELESS WITH ACCESSORY PANEL	1	UNIT	\$34,000.00	\$34,000.00	\$41,000.00	\$41,000.00	\$38,000.00	\$38,000.00	\$45,000.00	\$45,000.00
TE LIG	I HTING	100000000000000000000000000000000000000	- 100 to			SSEMBING STATES			The state of the s	Promotion and the second	ON MERCENTURA ENTRE
85	FIELD LIGHTING	1.	LS	\$590,000.00	\$590,000.00	\$635,000.00	\$635,000.00	\$590,000.00	\$590,000.00	\$608,700.00	\$608,700.00
NDSC	APING	EAGLISSUS SA	MENTERS			Space Sale (Communication		10克尔州美国高速运用	San	87 20 40 5 19 5 19	Care College Barton
86	TOPSOIL, 4" THICK	4330	SY	\$6.50	\$28,145.00	\$1.00	\$4,330,00	\$4.00	\$17,320.00	\$1.00	\$4,330.00
87	FERTILIZING AND SEEDING, TYPE A-3	4330	SY	\$5.00	\$21,650.00	\$1.10	\$4,763.00	\$2.00	\$8,660,00	\$0,50	\$2,165,00
88	STRAW MULCH	4330	SY	\$4.25	\$18,402.50	\$0,90	\$3,897.00	\$1.00	\$4,330.00	\$0.50	\$2,165.00
89	SODDING	745	SY	\$7.00	\$5,215.00	\$5.75	\$4,283.75	\$5,00	\$3,725.00	\$4.50	\$3,352.50

			and the second s	
Bidder No. 1 -	Bidder No. 2 -	Bidder No. 3 .	Bidder No. 4 .	
Total Bid	\$3,484,872.50	\$3,592,436.75	\$3.754.345.001	\$3,464,688,50
TOTAL BIG	l otal Bid	i (otal Bid	Total Bid	

7/31/12

LOWEST BIDDER CALCULATION ERROR